This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 5 - Newton Mearns South and Eaglesham

9,773

4

1,955

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Caroline BAMFORTH	Scottish National Party (SNP)	1,907
Bev BROWN	Independent	511
Barbara GRANT	Scottish Conservative and Unionist	1,798
Ian MCALPINE	Labour and Co-operative Party	1,009
Jim MCLEAN	Scottish Conservative and Unionist	1,437
Gerry MCVEIGH	UKIP	37
Alan RENNIE	Scottish Liberal Democrats	308
Jim SWIFT	Scottish Conservative and Unionist	2,766
	Total	9,773

Candidate Jim SWIFT Elected with 2,766 votes, being in excess of the quota of 1,955

East Renfrewshire Council

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Jim SWIFT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Caroline BAMFORTH	44	0.29320	12.90080
Transfer to Bev BROWN	116	0.29320	34.01120
Transfer to Barbara GRANT	1,428	0.29320	418.68960
Transfer to Ian MCALPINE	66	0.29320	19.35120
Transfer to Jim MCLEAN	919	0.29320	269.45080
Transfer to Gerry MCVEIGH	10	0.29320	2.93200
Transfer to Alan RENNIE	57	0.29320	16.71240
Transfer to Jim SWIFT	0	0.00000	0.00000
Value of non-transferable ballot papers			36.95200
	Total		811.00000

This report contains the transfers results.

Stage 3 - Surplus of Barbara GRANT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Caroline BAMFORTH	4	0.03461	0.13844
Transfer to Caroline BAMFORTH	23	0.11805	2.71515
Transfer to Bev BROWN	38	0.03461	1.31518
Transfer to Bev BROWN	51	0.11805	6.02055
Transfer to Barbara GRANT	0	0.00000	0.00000
Transfer to Ian MCALPINE	25	0.03461	0.86525
Transfer to Ian MCALPINE	65	0.11805	7.67325
Transfer to Jim MCLEAN	1,297	0.03461	44.88917
Transfer to Jim MCLEAN	1,466	0.11805	173.06130
Transfer to Gerry MCVEIGH	5	0.03461	0.17305
Transfer to Gerry MCVEIGH	11	0.11805	1.29855
Transfer to Alan RENNIE	18	0.03461	0.62298
Transfer to Alan RENNIE	55	0.11805	6.49275
Transfer to Jim SWIFT	0	0.00000	0.00000
Value of non-transferable ballot papers			16.42398
	Total		261.68960

This report contains the transfers results.

Stage 4 - Exclusion of Gerry MCVEIGH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Caroline BAMFORTH	3	1.00000	3.00000
Transfer to Bev BROWN	1	0.11805	0.11805
Transfer to Bev BROWN	1	0.29320	0.29320
Transfer to Bev BROWN	9	1.00000	9.00000
Transfer to Barbara GRANT	0	0.00000	0.00000
Transfer to Ian MCALPINE	1	0.11805	0.11805
Transfer to Ian MCALPINE	6	1.00000	6.00000
Transfer to Jim MCLEAN	1	0.03461	0.03461
Transfer to Jim MCLEAN	1	0.11805	0.11805
Transfer to Jim MCLEAN	5	0.29320	1.46600
Transfer to Jim MCLEAN	10	1.00000	10.00000
Transfer to Alan RENNIE	1	1.00000	1.00000
Transfer to Jim SWIFT	0	0.00000	0.00000
Value of non-transferable ballot papers			10.25564
	Total		41.40360

This report contains the transfers results.

Stage 5 - Exclusion of Alan RENNIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Caroline BAMFORTH	3	0.11805	0.35415
Transfer to Caroline BAMFORTH	4	0.29320	1.17280
Transfer to Caroline BAMFORTH	55	1.00000	55.00000
Transfer to Bev BROWN	5	0.11805	0.59025
Transfer to Bev BROWN	11	0.29320	3.22520
Transfer to Bev BROWN	54	1.00000	54.00000
Transfer to Barbara GRANT	0	0.00000	0.00000
Transfer to Ian MCALPINE	1	0.03461	0.03461
Transfer to Ian MCALPINE	10	0.11805	1.18050
Transfer to Ian MCALPINE	7	0.29320	2.05240
Transfer to Ian MCALPINE	93	1.00000	93.00000
Transfer to Jim MCLEAN	8	0.03461	0.27688
Transfer to Jim MCLEAN	14	0.11805	1.65270
Transfer to Jim MCLEAN	18	0.29320	5.27760
Transfer to Jim MCLEAN	44	1.00000	44.00000
Transfer to Gerry MCVEIGH	0	0.00000	0.00000
Transfer to Jim SWIFT	0	0.00000	0.00000
Value of non-transferable ballot papers			71.01104
	Total		332.82813